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QUESTION 1

What is the expected output of the following snippet?

1=5
while 1>0:
1=1//2
if i % 2=0:
break
else:
1+=1
print (i)

A. the code is erroneous
B.3

C.7

D. 15

Correct Answer: A

QUESTION 2

What is the expected behavior of the following code?

def foo(x,y):
return v(x) + y(x+1)

print (foo(l, lambda x: X*x))

PCAP VCE Dumps | PCAP Practice Test | PCAP Braindumps 2/4


https://www.geekcert.com/pcap-31-02.html
https://www.geekcert.com/pcap-31-02.html
https://www.geekcert.com/pcap-31-02.html

VCE & PDF https://lwww.geekcert.com/pcap-31-02.html
2024 Latest geekcert PCAP PDF and VCE dumps Download

GeekCert.com

B.3

C. an exception is raised
D.5

Correct Answer: D

QUESTION 3

What is the expected behavior of the following code?

string = str(1/3)

dummy = '

for character in strong:
dummy = character + dummy

print (dummy[-=1])

A. it raises an exception
B. it outputs O

C. it outputs 3

D. it outputs ‘None’

Correct Answer: A

QUESTION 4

If any of a class\\'s components has a name that starts with two underscores (___), then:
A. the class component\\'s name will be mangled

B. the class component has to be an instance variable

C. the class component has to be a class variable

D. the class component has to be a method

Correct Answer: A

Reference: https://hackernoon.com/understanding-the-underscore-of-python-309d1a029edc
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QUESTION 5

Package source directories/folders can be: A. converted into the so-called pypck format
B. packed as a ZIP file and distributed as one file

C. rebuilt to a flat form and distributed as one directory/folder

D. removed as Python compiles them into an internal portable format

Correct Answer: D
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